
Jacob has a total of 424 music albums in his collection of pop 

and rock albums. He has 232 rock albums. 

Read and analyse the given scenario and circle ALL the 
statements that are correct.

Music Album Subtraction

a. Jacob has 202 pop albums.

b. Jacob has 192 pop albums.

c. If Jacob sells 32 rock albums, he will have more 
pop albums than rock albums.

d. If Jacob sells 32 rock albums, he will have more 
rock albums remaining than pop albums.

Beth has a total of 287 music albums in her collection of 

classical and pop albums. She has 193 classical albums. 

a. Beth has 94 pop albums.

b. Beth has 480 pop albums.

c. If Beth buys 72 more pop albums, she will have less 
pop albums than classical albums.

d. If Beth sells 29 classical albums, she will have less 
classical albums than pop albums.


